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Q.No: 1 Sorghum and White peas are the examples of which among the following respectively?

2426882
SaR IR Fhg HeX HAN: Ffifed # & fead gamw 82
Cereals, Millets
A
IS, STORT
Millets, Rice
B
R, 41
Cereals, Pulses
C
ST, aTS
Millets, Pulses
D

o, Rt
Correct Ans : C

Subject : General Knowledge

Q.No: 2 After defeating whom Sher Shah declared himself as the ruler of India?

2426917
gl oM F 915 ¥R G A g F YR &1 TS Gifvd fHar?
Humayun
A
T,
Akbar
B
SR
Jahangir
C
weik
Shah Jahan
D
<gSiEl

Correct Ans : A

Subject : General Knowledge

Q.No: 3 Which subject was not included in the Gurukul Education of Later Vedic Period?

2426937
IR eE F1a : P e ¥ $9 a1 favy Wit 72 e
Military Science
A
7 fagm
Astronomy
B
it foRm
Ethics
C
A

D Sociology
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TSR
Correct Ans : D

Subject : General Knowledge

Q.No: 4 Under the reign of which sultan it became clear that northern India would be a separate Kingdom (Delhi Sultanate)?

2426949
58 Gedil & TRIa | I8 WY gofl b IRl Wk U el 14 (el o) g2
Qutb-ud-din Aibak
A
PEe-93-4F T
Mohammed Ghori
B
HgwTe M
Iltutmish
Cc
SR
Balban
D
CGEE)

Correct Ans : C

Subject : General Knowledge

Q.No: 5 Which of the following is a fisher folk dance of Maharashtra?

2427005
1 & § B I HERIY 1 IgR A% T 87
Koli
A
Fieft
Tamasha
B
GLIRUS
Povadas
C
e
Lavani
D
aaufi

Correct Ans : A

Subject : General Knowledge

Q.No: 6  Which of the following dance is South Indian equivalent of the famous Dandiya dance of Gujarat?

2427017
o 3 3 B 1 T SR YRy TR & R S T & Aoy 82
Thappattam
A
yuE
MayilAttam
B
RREEEL]
Kolattam
C
g
Therukoothu
D
Rz

Correct Ans : C

Subject : General Knowledge
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Q.No: 7 When did India participate in the Commonwealth Games for the first time?

2427498
HRA 3 Igelt IR ApHed Sall § F um fewr?
1930
A
1930
1934
B
1934
1938
o
1938
1942
D
1942

Correct Ans : B

Subject : General Knowledge

Q.No: 8  Who is the first Indian woman to win the Asian Games gold medal in 400 meters race?

2427503
400 ez s H URkmg el P @l gaw Sfiaq arell veeht WRd wigen B 82
M L Valsamma
A
RCRSERER)
PT Usha
B
0 & 9w
Kamaljit Sandhu
Cc
I FY,
K Malleswari
D

& Head

Correct Ans : C

Subject : General Knowledge

Q.No: 9  How many routes are there through which India gets FDI (Foreign Direct Investments)?

2428888
W fore TR § AR URA B FOI (Wer e fasny fverar 82
Two
A
Q
Three
B
it
Six
o
EN
Seven
D
Kiic)

Correct Ans : A

Subject : General Knowledge

Q.No: 10  Sir Ludwig Guttmann is known as the father of which sport?
2430498

W TS TehT ) b Fa & SFd S T H 1 e 82
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A vlympic
et
Asian Games
B
R &
Paralympics
(o]
Yufefe
Commonwealth
D

E i
Correct Ans : C

Subject : General Knowledge

Q.No: 11 Who holds the maximum stake in Regional Rural Banks?

2434048
&t o Yapt # waife e forwds oy 9t 3 2
State government
A
T PR
Central government
B
F% WIR
The bank itself
Cc
wl ¥
Sponsored bank
D

R S
Correct Ans : B

Subject : General Knowledge

Q.No: 12 In which year was Bharat Bhawan inaugurated?

2441037

URA Ha &1 Igied fovd ayf fosar m ure

1974
A

1974

1978
B

1978

1982
c

1982

1986
D

1986

Correct Ans : C

Subject : General Knowledge

Q.No: 13 The Marathi Sahitya Academy in Madhya Pradesh is situated in -

2441052
W B mId iR sremreHt fua 3 -
Indore

A
R

B Bhopal
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e

Gwalior
C

R

Jabalpur
D

ISR

Correct Ans : B

Subject : General Knowledge

Q.No: 14 Which of the following is NOT a book by Shri Sharad Joshi?

2441074
frofafea # § o1 4t R Sh 3t e T8 82
Yatra Tatra Sarvatra
A
T 7 A
Nadi Mein Khada Kavi
B
T A T R
Ashok ke Phool
C
SNF F T
Do Vyangya Natak
D

3 o e
Correct Ans : C

Subject : General Knowledge

Q.No: 15 Which of the following forts is known as the Pearl amongst the fortresses in India?

2441353
frofefea & § S @ fven wRa & el & Ak & w9 3 S S 82
Gwalior Fort
A
RER 1 et
Raisen Fort
B
a1 e
Orchha Fort
C
st fvem
Madan Mahal Fort
D

e Hed e
Correct Ans : A

Subject : General Knowledge

Q.No: 16 Where is Chitragupta temple located?

2441373
fRrre wfeR el R &2
Panchmarhi
A
g
Vidisha
B
fafe=m

C Khajuraho


https://applink.adda247.com/d/XhqWf9lSap

Addai2y7 Eoogle Play

QyIRIGH

Bhopal

it

Correct Ans : C

Subject : General Knowledge

Q.No: 17  As per the India State of Forest Report (2019), what is the percentage geographical area of Madhya Pradesh that has forest-cover?

2441645
33w Ve o B RUE (2019) F AR, Aeg WW & fra wfowrd dhiifers & & a9-9maR0r 32
25.14
A
25.14
26.78
B
26.78
28.97
c
28.97
22.35
D
22.35

Correct Ans : A

Subject : General Knowledge

Q.No: 18 In which year was the Madhya Pradesh State Mining Corporation Limited established?

2441654
T YRR I G A RS @t o e af g€ o
1958
A
1958
1962
B
1962
1966
C
1966
1970
D
1970

Correct Ans : B

Subject : General Knowledge

Q.No: 19 The Madhya Pradesh Government has monopoly in -

2441667
T T PR BT WIDR & " -
Coal mining
A
P &
Diamond mining
B
R
Fisheries
G
A U
Petroleum products
D

Uiy SaTg

Correct Ans : D
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Subject : General Knowledge

Q.No: 20 Madhya Pradesh is the Tendu leaves producing state in India.
2441681
e T HRd A U STEH I
biggest
A
BEEES
second-biggest
B
[SAEEEES]
third-biggest
C
ELNEEEES
fourth-biggest
D

< QTS

Correct Ans : A

Subject : General Knowledge

Q.No: 21 The porcelain filter is used to filter out specifically which causative agent:

2422807
MR freex 31 IudiT Ay wu § i IR wie 3 BT & R e s &
Virus
A
Iy
Protozoa
B
e
Bacteria
C
St
Aschelminths
D

weHfandter o FRdsT

Correct Ans : C

Subject : General Science

Q.No: 22 Which among these is an exception in the case of water pollutants?

2422809
T UGEF & AHA H 3 A PN UGS 37
Hydrilla
A
TRRy
Sewage
B
GIES]
Oil spills
C
T
Detergent water
D

feeste orit

Correct Ans : A
Subject : General Science

Q.No: 23 Gita met a student and asked her to solve her geography question that says, “which planet holds the maximum water abundance?”. To this Gita answered-
2422811
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AN KD 1A 1 THC IR ORI I @1 Wd B X @1 PRI VI P{AI § [P "PI7 RHLUT A9 STHIRID Yil XdaAl 8771 MR TR Al 1 1G4di-

Earth
A
Neptune
B
Mars
C
R
Jupiter
D

e

Correct Ans : A

Subject : General Science

Q.No: 24 What are the diseases that spread through contaminated air, water, food or vectors (insects and other animals) called?

2422983
<fd gar, e, HIeF 91 AMaedT (PIS SR g TRl F Haa ard A7 71 Hea 87
transmissible diseases
A
e
epidemic diseases
B
TR AT
infectious diseases
C
S AT
contagious disease
D

BLkakiti|
Correct Ans : C

Subject : General Science

Q.No: 25 Which test is used for the proper diagnosis of AIDS?

2422985
TgE & T AnFeF & R g werr o1 v v siwar 32
cT
A
cT
MRI
B
MRI
ELISA
c
ELISA
PET
D
PET

Correct Ans : C

Subject : General Science

Q.No: 26 Tuberculosis is caused by which pathogen-
2422988

& 3 {5 Iy & €rer 8-

Hepatitis virus

TS ARy
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mMycopacterium

tuberculae

AEPTARE"
TR
Entamoeba

histolytica

teapfar
Reiferfest

Vibrio cholerae

fafsd Brerr

Correct Ans : B

Subject : General Science

Q.No: 27 Rabi crops are grown in:

2428007
& Bt HEd I S B
winter
A
wdf
summer
B
T
rainy
c
ELiG
autumn
D
WE HY

Correct Ans : A

Subject : General Science

Q.No: 28 Which of the following is an oil-producing crop?

2428013
Frafefed & 9 1 @ 0 Sae® Bud o2
mustard, sunflower and peanut
A
T, GRogE SR Tt
flax, cotton and jute
B
T, PUH IR
wheat, cotton and okra
C
olive, paddy and sunflower.
D

S, ur SR e
Correct Ans : A

Subject : General Science

Q.No: 29  Ethology is the study of:
2428776

TR BT 31T §:

behavioural sciences

FIGRRS -
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pnysicail sciences

i faem

biological sciences
C

Sifae famrt

chemical sciences
D

S o

Correct Ans : A

Subject : General Science

Q.No: 30 Itis a group of one or more morphologically similar interbreeding individuals which are genetically distinct and reproductively isolated from others-

2428794
U5 TS U1 U@ § Sifie SUE TY A A aI6FT T aId JaRId ST IS T4g ¢ Sl e T F @ iR o &0 F gl I e 81 8-
species

A
Yot
cohort

B
0T
family

C
Rar
kingdom

D
e

Correct Ans : A

Subject : General Science

Q.No: 31 Directions: The following question consists of two statements one labeled as “Assertion” and the other as “Reason”. You have to examine these two statements carefully and s
2428993 g
ptions.

Assertion(A):Sewage should not be disposed of in rivers or oceans before treatment.

Reason(R):Aquatic animals and species will die due to pollution.
P Fofafed uy < w8 O @t B sifidyEt ok g &) "SR & TY B daa 691 T 1 3UST 37 S ST Bt WrauHigdd Sig St @ SR 3T M fawed 7 vy &1 9 SW
HHYT (A) : T 3T ITIR F vgd Al 1 AR F T TgT W AUl

FRUT (R) : STl S TR it wewor & SRop 3R St
Both A and R are true

A

ARRITTAE

Both A and R are false
B

A 3R R A o ¥

A is true but R is false.
c

AT 2 AR 3R

A is false but R is true.
D

A 3 § A R TG R
Correct Ans : A

Subject : General Science

Q.No: 32 Which one of the following is not the way to reduce air pollution at the individual level?
2428995

Frofafea # ¥ S afded WR W a5y gy S 1 IR B addT T 87
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vwe snoula purn ary ieaves, papers, ana garbage Iin tne open.

o TR T, Pl 3R BER B @A A e 9l

We should grow more trees and also take care of the existing trees in our neighbourhood.

B

& ot & i O o =nfeT OiR S Sr-uge H Wi UK @ +ft Tmvi et =

We should say no to crackers during Diwali to reduce the level of air pollution during the festival season.
C

o digr! & 1w F a1y TN F TR B $H B0 & g Rareh & SR Terd B 1 He aeul

We should use the bicycle more often for commuting short distances instead of bikes or cars.
D

TH U G TF M-TM F R I5F U1 $R F S99 WEfHa F1 3w Iubht HAr 7y

Correct Ans : A

Subject : General Science

Q.No: 33 Directions: The following question consists of two statements one labeled as “Assertion” and the other as “Reason”. You have to examine these two statements carefully and s
2428998 i
ptions.

Assertion(A):Electrical appliances such as air conditioners, refrigerators release volatile compounds.

Reason(R):Excessive use of these appliances can cause greater damage to the ozone layer thereby causing more pollution.
e Ffafed gy & < F= € i @ 0@ 3 sifimyT ok R B "GRU” F w0 H A9 51 T 1 St 9 A Sl ) aerigde Siig Sl 8 9R 3T T fadedt # | uy 1 9€ SW
SHfHBYT (A) : faggd ST O TR SRR, Yheivey aasfa e Siead g1

PRI (R): T SUIRYT F AT ST A i R B s THa 81 Todr ¢ e 3w ugwr & w5 21

Both A and R are true

A

T IR 3R G 9 §

Both A and R are false
B

A 3R R 2 3 §

A is true but R is false.
C

AT § A R 3@ B

A is false but R is true.
D

A 399 § AT R TG R
Correct Ans : A

Subject : General Science

Q.No: 34 During stress conditions
2430042

is produced by certain species of Penicillium.

e B RufY & SR ARiRiRram go weiidt gR1 I fban o @

Antibiotic
A
i qansit
Penicillin
B
AR
Paracetamol
C
Fafaaeie
Aspirin
D
TR

Correct Ans : B

Subject : General Science

Q.No: 35
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£43UU7s 1 |Ne Nrst stage or coal Is

POADIYIT RO ___ &

Octane rating

A
i e
Cetane rating
B
e e
Methane
C
s
Peat
D
i

Correct Ans : D

Subject : General Science

QNo: 36  p - Qmeans Pis the father of Q
2422450 p - Q means Pis the mother of Q
P x Qmeans Pis the brotherof Q

P+ Qmeans Pis the sister of Q

P * QmeansPis the son of Q

P # Qmeans Pis the daughterof Q

How Aisrelated to Ein the expressionA+BxC+D*E#F

P+Q&H HY & fF QT Rar &

P-QF T L P, QN AT &
PxQH HT & P, QT 9IS &

P-QIHTE P,QfragT &
P*QEH HI ¥ P, Q&I TA &
PEQFE FTE P, QFr T &

sl A~BxC+D*E#F & A,EY ¥ §dfaq &

Son
A
™
Son-in-law
B
C1LICS
Brother
C
ug
Father -in-law
D

TR
Correct Ans : D

Subject : General Reasoning

Q.No: 37 A is the father of B. B and C are siblings. But B is not the brother of C. C is the son of D. D is the mother of C. What is the relation between B to C?
2422472

A, BEHIfT 81 B iR ¢ WE-ag1 §1 AP B, CH UE THRI C, DHF T RID, CH A ZI B Y ¢ F g a7 Ty 32

Father
A

o

Son
B

Eul

Brother
Cc

g

D Sister
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g1
Correct Ans : D

Subject : General Reasoning

Q.No: 38 Find the wrong term in the series?

2422585
2,5,7,10,12, 14
el # T1ed S 1 Ul g?
2,5,7,10,12, 14
10
A
10
14
B
14
12
c
12
7
D
7

Correct Ans : B

Subject : General Reasoning

Q.No: 39 Find the wrong term in the series?

2422605
2, 5,12, 27, 54
S H T S P Gl L2
2,5, 12,27, 54
2
A
2
12
B
12
27
o
27
54
D
54

Correct Ans : D

Subject : General Reasoning

Q.No: 40  Find the odd word out.

2424510
ST T&E BT T BT
Rectangle
A
S
Square
B

i
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v wuvuu

Y

Parallelogram

AR Ty
Correct Ans : C

Subject : General Reasoning

Q.No: 41 Find the number of triangles in the given figure.

2425644
T sl Byt 3 e I B
15
A
15
14
B
14
13
c
13
12
D
12

Correct Ans : B

Subject : General Reasoning

Q.No: 42 Select the letter-cluster that is related to the third letter-cluster in the same way as the second letter-cluster is related to the first letter-cluster.

2426291
NIMP : PLOR :: RTVX : ?
I JER-TUG BT TG DI S AR 3HeR-THE F 3 UHR Feifdia & SR G 3HeR-g, Ugd SHeR-9ug § Tafr g1
NIMP : PLOR :: RTVX : ?
vTXZ
A
VTXZ
TVXZ
B
TVXZ
TVZX
o
TVZX
svzx
D
svzx

Correct Ans : B

Subject : General Reasoning

%INZ(234931 Select the option /number which is related to 3rd number in the same way as 22 number is related to a
It number?
5:27%1:?
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3W TEAT /eT & 99 S A S0 T ¥ 35U YH6R Fafod § o gul §Ear ggelr

TE ¥ wea ¢
5:27%1:?
6
A
6
7
B
o
5
a4
D
a4

Correct Ans : B

Subject : General Reasoning

Juo: % Select the option /number which is related to 3 number in the same way as 224 number is related to a
Ist number?
4:28::2:7
3H HEAT [aeT &1 997 HY A Ay FEA ¥ I YER FAOT § S gE FEAT 9wl
FEAT ¥ A gl
4:28:2:7?
2
A
2
a4
B
a
12
c
12
8
D
8

Correct Ans : B

Subject : General Reasoning

Q.No: 45 In the given diagram, Triangle represents upper class people, Circle represents backward people and Rectangle represents literate people.
2426556

How many people are backward but literate?

fu g s &, By 9 & & il 1 wlafRE S B, 39 fres il &1 ufaiiieE Sar § o) omd wer <ntt &1 wfafAfia exar 21

o A B Afe wer §2
A 8
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6
Correct Ans : D

Subject : General Reasoning

Q.No: 46  From the given diagram, Find out how many Players play either Cricket and Football or both?

2426601
Cricket
M Players
9 k
8| 6
K
2
3
f
Football
fRw e snva ¥ I FR 5 e faeret fsdre ok weara ar 1 @ §2
e
“ et
9 ¥
8] 6
K]
3 2
?
hyeic
10
A
10
7
B
7
17
c
17
15
D
15

Correct Ans : C

Subject : General Reasoning

Q.No: 47 Select the option that is related to the third term in the same way as the second term is related to the first term.

2429532
CEGI : IKMO :: LNPR : ?
I e &1 797 ¥ 9 R U I S TR Gafia § SR R Ue Ued ug & Fafdd 2
CEGI : IKMO :: LNPR : ?
RTUV
A
RTUV
RTVW
B
RTVW
RTVT
c

RTVT
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RTVX

RTVX
Correct Ans : D

Subject : General Reasoning

Q.No: 48 T introduces U saying, “He is the husband of the granddaughter of the father of my father ,"How is related to U?

2429571

T, U 31 UR=d 9% H6d ¢ ol 8, "8 AR frar & e o5t ot &1 ufy B, 9% U @ v veR i 82

Son in law
A

QG

Father in law
B

TR

Sister in law
C

Rrex-g7-al

Brother in law
D

FeR-g-ar
Correct Ans : D

Subject : General Reasoning

Q.No: 49 Which answer figure will complete the pattern in the question figure?
2433193

P IW PR WY P F Uy B g7 Hoi?

Correct Ans : D
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SupjeCt | weneral Keasoning

Q.No: 50 Identify the figure that completes the pattern.

S
LY
2 %

8
-
o
=9
>0
-
ol
il
il

Correct Ans : A

Subject : General Reasoning

Q.No: 51 Select the option that is related to the third number in the same way as the second number is related to the first number.
2434884
52:10::63:7?

39 ey &1 957 X 1 R e § S veR Wi § SR gadt e, ged e 9 Gafa g1
52:10::63:7?
9

18

18
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L/

45

45

Correct Ans : B

Subject : General Reasoning

Q.No: 52
2440178

Given gquestion has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
If I score well, I will get admission

A. I scored well

B. I got admission

C. 1 did not score well

D. I did not get admission

3T T vy B BT FUA SR TS G IR FYA 1 B BT H0d g I, Tl U DU 1 A g HU W §, SR & Ty Qi w9 ¥ 781 U S W B
SR T ST TR Hedl §, df o wa i s

A, T 331 @R

B. T3 W firer T

C. T 331 VR T foo

D. G A e firen

AB

AB
BA

BA
DA

DA
cD

cD

Correct Ans : A

Subject : General Reasoning

Q.No: 53
2440210

Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
If one gets punished, one feels ashamed

A. One got punished

B. One did not get punished

C. one felt ashamed

D. one did not feel ashamed.

f3T 0 vy § g Hu SR IF TG IR FUF §1 FU 1 B G I, TeT T80 BT BT A T FUA U 8, IR A T Afbd w9 T8 FUT S FE B
foreft ot won firct <t et ot @

A. TP B Fonl felt

B. faeit @1 Fon 7ol freht

C. TP & Qe ey g8

D. f5eft @1 T et o
AC

AC
BC

BC
DA

DA

~n
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cD
Correct Ans : A

Subject : General Reasoning

Q.No: 54 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440257 If university becomes autonomous, it will have more freedom

A. university became autonomous

B. university is not autonomous

C. it has more freedom

D. it does not have freedom

fu M gy B g HF SR IUF 916 TR B §1 HYHI BT BT G T, T8 T5A HUT BT A g8 B I 7, R & FUA dfhd T § T FU I T 7
Ryfiemea wr 8 s @ 39 SR oifde adaar wr grft

A. Tasfaare <ara §

B. fufrener warad 78 &

C. 398 3% wdaa 3

D. T9E oA T §

BD

BD
BC

BC
DA

DA
DB

DB
Correct Ans : D

Subject : General Reasoning

Q.No: 55 Select the option that is related to the third term in the same way as the second term is related to the first term.

2441950
ROSE : ORES :: FILE : ?
T4 e o1 797 X S TR Ug F S TR el § R TPR g1 U Ued Ue F Gala © |
ROSE : ORES :: FILE : ?
IFLE
A
IFLE
IEFL
B
IEFL
IFEL
c
IFEL
IELF
D
IELF

Correct Ans : C

Subject : General Reasoning

Q.No: 56  Simplify: 50-12+3 x4
2422335
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WA S 50-12+3 x4

32
A

32

34
B

34

49
c

49

37
D

37

Correct Ans : B

Subject : General Maths

Q.No: 57 gimplify: 82 —[63+ {42 - (19+7-2)}]

2422360
A DI 82-[63 = {42-(19+7-2)}]
70
A
70
75
B
75
64
(o
64
65
D
65

Correct Ans : C

Subject : General Maths

Q.No: 58 Kuldeep deposited Rs.6550 with a finance company for 2 years at an interest of 6% per annum. What is the compound interest that Kuldeep gets after 2 years?

2423597
FAL A 0F 3 F F UM 6% U ¥ & S W 2 W & U 6550 TUd AT U1 ada o1 2 9 a1g e Twafe s e g2
Rs.97.20
A
Rs.97.20
Rs.277.30
B
Rs.277.30
Rs.809.58
c
Rs.809.58
Rs.761.358
D
Rs.761.358

Correct Ans : C

Subject : General Maths

.No: 59 . - . . s alg,
2423512 Sita took a loan of Rs.18500 against her insurance policy at the rate of 13-2—% per annum. Calculate the

total compound interest payable by Sita after 2 years.
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T & % 18500 S Y 1329 T G ¥ IR AT AR & Ryemen ot foram) e @Ry 2 @t &
1E T el Thq i sATST h I0TAT Y |

Rs.7579.2681

Rs.7579.2681
Rs.5332.1625

Rs.5332.1625
Rs.1285.1260

Rs.1285.1260
Rs.3020.821

Rs.3020.821
Correct Ans : B

Subject : General Maths

Q.No: 60 Solve:

2428577
[81+9+250f 5-10x 10+ (225+5-196 +4 + 10 x 3)]
EEkad
[81 +9+5H125-10 x 10 + (225 + 5-196 + 4 + 10 x 3)]
35
A
35
42
B
42
a3
C
43
60
D
60

Correct Ans : D

Subject : General Maths

Q.No: 61 The annual rainfall in Vidarbha in five years is given below. What is the average rainfall for those 5 years? 900 mm, 650mm, 450 mm, 733 mm, 400 mm

2432517
e & afifes awf ufa o & - fon &) i 1 99 5 9t &1 2 900 firelt Tfiex |, 650 et fiey , 450 it fex, 733 fireht efiex, 400 firch ofier
626.3
A
626.3
626.4
B
626.4
626.5
c
626.5
626.6
D
626.6

Correct Ans : D

Subject : General Maths

Sisicas Find the value of (35)° + (10)3
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(35)} + (10)° T A JTd B

42574
A

42574

40380
B

40380

45440
C

45440

43875
D

43875

Correct Ans : D

Subject : General Maths

Q.No: 63 If the sum of two numbers is 9 and the sum of their cubes is 171 then find the sum of their squares.
2434733

e 2 GEell &1 40T 9 ¥ U1 I9 Tl 1 4T 171 § o I @ &1 4T 1 I

392
3
A
392
3
371
3
B
372
3
412
3
C
413
3
36+
D
36+

Correct Ans : A

Subject : General Maths

Q.No: 64 .1 )
2434763 X -—==14 x5 -2
If X . then value of x* is
xt-to=1a x -2
gfe” X E,d T X dIHME
36
A
346
18
oy
B
18
B
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0
el

32

32

Correct Ans : C

Subject : General Maths

Q.No: 65 If a shopkeeper gets profit on selling a stationary is 20% of the selling price, what is real profit percent gained by shopkeeper?

2435208
e, foreft gFFRR B WIA 97 R 35 e $T 20% AH UK Tl 2, IHMGR RT U IRafasds a1 wiard i ifor?
25
A
25
30
B
30
20
c
20
50
D
50

Correct Ans : A

Subject : General Maths

Q.No: 66 Ankit sells a tablet to Amit at a gain of 8%, Amit sell a same to Saurabh at a gain of 12%. If Saurabh pay Rs. 12,096 for it then find the cost price of tablet for Ankit?

2435228

3iferd 3 AT B 8% F AU J 2qAT 11, AT ¥ IRY BT 12% F TH W 3911 3T IRH I & T 12,096 T F1 Y1 a1 d siftrd & g 2edie F1 a7 Ted 19 Sifore?

10,000
A

10,000

12,000
B

12,000

8,000
o

8,000

7,000
D

7,000

Correct Ans : A

Subject : General Maths

Q.No: 67 'Buy three, get one free.' What is the percentage of discount being offered here ?

2435288
d T, W T ga ol gei R A ufiwa ge 3 e 3 o 38 82
33.33%
A
33.33%
25%
B
25%
20%
C
20%

7R RRO/A
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28.56%
Correct Ans : B

Subject : General Maths

Q.No: 68 Find the value of: 44 + 0.012

2437466
44 + 0.012 BT HM J1d B
120
A
120
264.56
B
264.56
700
C
700
344.98
D
344.98

Correct Ans : A

Subject : General Maths

S4N3°7 46896 § of group of children were boys, if there were 48 boys, how many children are there in a group.
el g 12 g, AR 4 v 4, O e g e B
45
A
a5
50
B
50
60
C
60
70
D
70

Correct Ans : C

Subject : General Maths

Q.No: 70 One orange cost five and half rupee and one kg apple costs Rs 40. then the total cost of one and half dozen of oranges and one and three-fourth kg of apple is

2437546
T AR B AT 5.50 BT AR T el e bl and 40 ¥ g 10150 ot Herl 31
YIB! Pl AT 1 3?
Rs 180
A
180 ¥1
Rs 129
B
129 T
Rs 220
c
220 9

D Rs 230
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Z3U ™YY

Correct Ans : B

Subject : General Maths

Q.No: 71 If in a symbolic language ‘BEAUTIFUL’ is written *CDOGHIKMN’ then ‘LEAF’ will be written in the same language as?

2422535
I freft Wifas Hmam & 'BEAUTIFUL' &1 'CDOGHIKMN' feraT et § ot 'LEAF It Hrar # férar o fore?
NDOK
A
NDOK
KNND
B
KNND
ODNK
C
ODNK
DKON
D
DKON

Correct Ans : A
Subject : Mental Ability

Q.No: 72 If in a symbolic language ‘WORLD’ is written ‘GICMA’ then ‘WORD’ will be written in the same language as?

2422565
e et Wishfae HI1 & * WORLD * 1 * GICMA" feran ST @ *WORD* &1 It o1 # feram smarm fores?
LORD
A
LORD
ORLD
B
ORLD
ROLD
C
ROLD
GICA
D
GICA

Correct Ans : D
Subject : Mental Ability

Q.No: 73 In a row, A is 22 from the left end and B is 25% from the right end. When they interchange their

2425583 position respectively. then B becomes 30% from the right end, then what will be A position from left
after interchanging?
T Ufd #, A T BR V228 WA R B 3R B AW BR T 259 M W B 7 § HAW: (0 UM 987 A4 3, @ B T BR T 303 VM W g1 A §, TN RER M5 950 & 918, MIA B R 7
22
A
22
29
B
29
30
c
30
28
D
28

Correct Ans : B
Subject : Mental Ability
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Q.No: 74 Identify the set for the word STAIN.

2426501
eg STAIN & fT 98t 9=rd &1 TgaH il
98175
A
98175
89483
B
89483
68194
c
68194
65478
D
65478

Correct Ans : D

Subject : Mental Ability

Q.No: 75 1If in a certain language, UTENSIL is coded as WVGPUKN, which word would be coded as DMSFXG?

2426531
Ife; ue AT W1 §, UTENSIL & WVGPUKN & 0 & IfSd foran oire B, < f5a s 31 DMSFXG & w0 & Sifed fowar sem?
BARED
A
BARED
BRAED
B
BRAED
BREAD
c
BREAD
BRADE
D
BRADE

Correct Ans : C

Subject : Mental Ability

Q.No: 76 In the following questions, two statements are given followed by two conclusions (I) and (II). You have to consider the statements to be true even if they seem to be at varian
2430216 the given conclusions, if any, follow from the given statements. Indicate your answer.

Statement: Small age school going children in urban India have now become avid as well as more regular viewers of TV, even in households without a TV. As a result, there h
newspapers.

Conclusions:
1. Method of increasing the readership of newspapers should be impacted.
II. The team of experts should be sent to another country to study the impact of TV on the readership of

newspapers.

Frofefea vl #, @ $3 @ Ay 1, 11 31 SRV SR § S1US! GFT Ul TR AR S g, 4 8 3 iR R 91 ol @ wela 89 @il eme! i e e sl & afg e @ d St =

FUA: e YRA H BIR 3T F A 91 a1 T 9 ) F N T F wy-wy At F it fafid aXie 59 10 ¥, 51 7 1 fa At ot o F o Tolion, TeER wl F uee 3t e #
Frepd:

1. SARR W &1 U3E G 91 S alid &l uHifad fhar s =il

11. §AER Gl & Ue@! | Edt & YHIT BT HEIA B & fore [Iwsit 31 W 3 gae o=1 7 Well S =iigul

Only conclusion I follows

et Fepd T SFERT Bl

B Only conclusion II follows
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PACT 11°PY LL YRV PRI &

Either I or II follows

U I 7 1T SRRV FRell §

Neither I nor II follow

AR I IR TE 11 R HRET ¥
Correct Ans : D
Subject : Mental Ability

Q.No: 77 In the following questions, two statements are given followed by two conclusions (I) and (II). You have to consider the statements to be true even if they seem to be at varian
2430245 the given conclusions, if any, follow from the given statements. Indicate your answer.

Statements: We know nothing except the facts of my rumors.
Conclusions:
1. The knowledge of writer's is too poor.

II. The knowledge is too vast to be explored by a single person.

fofefaa usdt &, @ oo < e 1, 11 3T SR Ra § 3D G S TR TR %A1 g, HA €1 A SR W 71 et el 8 @il | oimua i Ry e s & afe P ) @ 3 T

FUA: T IO BATET & qal & Il T AL T
Frp:

1. 9GP @I 94 550 I 81

11. T skl gRT TS A & g 74 agd g 21

Only conclusion I follows

A
et iy T SRl el §
Only conclusion II follows
B
S FepY 11 STERT e &
Either I or II follows
C
Tyl I 9T 1T SR ol §
Neither I nor II follows
D

FA I AR II 3T BT &
Correct Ans : B
Subject : Mental Ability

Q.No: 78 In question below are two statements followed by two conclusions numbered I and II. You have to take the given statements to be true even if they seem to be at variance fro
2435458 conclusions logically follows from the given statements.

Statements:
I. Some apples are grapes.
II. Some grapes are onions.
Conclusions:
I. Some onions are apples .

II. No onion are apples

= T T Ty # 1 U SR IuF a1e @ e 18R 11 U T 71 ot T U Sl @1 W A ©, 1R 3 s 91d 9t 9 i it S €, enaet ofg @ © 1o fau e e S o
I 3 99 SR {1

11 T8 3R W 81

s

1. 38 U 39 ¢

11, B% W ¥4 T 81

Only conclusion I follows.

Fad fpy 1 SR HRar Bl

B Only conclusion II follows.
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Faa Py 11 SR F3a 81

Both conclusions I and II follows.
C

St s 1 3R 1T SRR 3R &

Either conclusion I or II follows.
D

T & s 1 a7 X1 SR T B
Correct Ans : D
Subject : Mental Ability

Q.No: 79 Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even if it appears to be at variance with commonly known
2435518 follow(s) from the statements.

Statements:

1. All Maths are Physics.

II. All Physics are Chemistry.

III. No Chemistry are History.
Conclusions:I. No Maths are History.
II. No Physics are History.

III. All Chemistry are Maths.

U T Fui vd Frsh st &1 eFyde Siene Y1 I8 A gU 6 Hu § € TS TReR) 9™ 7, HA € U8 WM WU ¥ J1d 9t ¥ i wld €1 €, g Rofg 3 5 i an fe T T Syt @ ade
FY:

1) Toft fr, sifdes famm B

2) Tt e fwm, Tem faam 21

3) g T fow, gfoer e R

frspy:

1. T T, e T R

11. 315 *ifies fawm, sfiem @t 81

111w v g, i 1

None follows

A

B HTER TG FA 31

Only conclusion II follows.
B

Faet Frend 11 SR S 8

Only conclusion II and III follow.
C

e Frsed 1T SR IIT R0 3 81

Only conclusion I and II follows.
D

Faet Y 1 3R 1T SRR F4 8

Correct Ans : D
Subject : Mental Ability

(2?‘-‘”3%5201 In the following question, the statements are followed by conclusions. Study the conclusions based on the given
statements and select the appropriate option as your answer.
Statements:
P>Q<R=MR>F
Conclusions:
I.M 2P
II.R >P

AT 92 &, Fuat & g vy fgu v gl

TEU 31T @erell & UR TR TeTschd T HeTder Y 3 9 Jook & §9 & 3Ugard fated B T8 H
U

P2Q<R=MR=2F

foread:

I.M=p

IL.R >P
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A Only conclusion I is true
Faa e 1 9A ®
Only conclusion II is true
B
P e 11 9§
Either conclusion I or II is true
C
gafei oAy
Neither conclusion I nor Il is true
D

TR I RAFIITTR

Correct Ans : D

Subject : Mental Ability

%“‘3‘258612 In the following question, the statements are followed by conclusions. Study the conclusions based on the
given statements and select the appropriate option as your answer.
Statements:
V2K>M=N
Conclusions:
I.LV=2M
I.V=N

farafafad et &, F=! & alg fFead G e g

U 3T FHYAT & HUR R FFeewd &7 37egge H A 3T 3ol & T & 39Yad faded & a9 B
FUe:

VZK>M=N

forsad:

LV2M

ILV=N

If only conclusion I is true

A
Faa e 199§
If only conclusion II is true
B
Faa s 11T R
If either conclusion I or II is true
C
gafsf o sad
If neither conclusion I nor II is true
D

T diRAFIITTR
Correct Ans : D
Subject : Mental Ability

Q.No: 82

2438501 1IN the following question, the statements are followed by conclusions. Study the conclusions based on the given

statements and select the appropriate option as your answer.
Statements:

L>M >N >P

Conclusions:

I.L>P

ILM>P

fFATaad 93 &, FUA! & arg fsed fgu 7 g

U 9T YT & HUR T Fh &7 o0+ B AT 379 Seal & F7 & 39gad fadwed H a9 B
Ty

L> M >N >p

s

LL>P

ILM>P

A Only Conclusion I follows
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PAC] 1Py L /™ &

Only Conclusion II follows

B

Faa P 1w

Either Conclusion I or II follows
G

o Feed T I v ¥

If both Conclusion I and Conclusion II follows
D

Tfe; 31 Frepy 1 iR Frpy 11 oreRy BRa &

Correct Ans : D
Subject : Mental Ability

Q.No: 83 In the question below, there are two statements followed by four conclusions given in options. You have to take the given statements to be true even if they seem to be at var
2439077 the given conclusion logically follow(s) from the given statements.

Statements:
Some exams are not objective.

No exam is descriptive.

A e ey F, €1 A & e fapel  9R feey U g §) Suet AT T Syl #1 I A 8, A 8 3 gaea aul @ i welia 81 81 el et # ufeu R g #ifore i o e faeed <
F:

Fo wle I T

B¢ qlten qofres T R

No objective is a descriptive

I 3=y i T §

All objective are descriptive

ot SE= i B

Some objective is exam

TO T T §

No descriptive is exam

FE quiTreTe Ten T 1

Correct Ans : D
Subject : Mental Ability

Q.No: 84 Arrange the following words in a logical and meaningful order.
2442664

1. Learn

2. College

3. Degree

4. Admission

wv

. Assessment

6. Class

Frfifea el 31 1o aifbe Ta srfqul H # srafem ifvm)
1. ¥R

2. Pl

3. et

4. gif@an

5. Hedipd

6. Hal

4,2,1,6,3,5

4,2,1,6,3,5
B 2,1,4,5,6,3
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L, 1, 4, 9,0,

4,2,6,1,5,3

4,2,6,1,5 3
54,21,6,3

54,21,6,3
Correct Ans : C
Subject : Mental Ability

Q.No: 85 Arrange the following words in a logical and meaningful order.
2442673

1. Brass

2. Gold

3. Silver

4. Platenum

5. Iron

Frofifea v=di o1 ue e vd srfqef wm & sxafm Fife
1. diad
2.9
3. =i
4. @Qfem

5. digt
3,1,5,2,4

3,1,5,2,4
5,1,3,2,4

5,1,3,2,4
2,1,5,3,4

2,1,5,3,4
543,21

54,321
Correct Ans : B
Subject : Mental Ability

Q.No: 86 A cistern can be filled by a tap in 9 hours and emptied by an outlet pipe in 13 hours How long will it take to fill the cistern if both the tap and the pipe are opened together?
2423751

Td <l D) TH 0 §RT 9 G H HRT 1 Gohall ¢ 3R TP MIecie UIgy gRT 13 W H @relt fasan S wwan 71 A -1t ofR urgy GF1 31 U iy i fean sme af <ot oot R & e e arm?
117/4 hours

A
117/4
168/7 hours
B
168/4 42
123/5 hours
C
123/5 4
361/3 hours
D

361/3 1
Correct Ans : A

Subject : General Aptitude

Q.No: 87 If a train’s length is 120 m and it crosses a tunnel of 180 m. If the train’s speed is 10 m/s, then find the time taken by which the train crosses the tunnel.
2427292
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SN PRI G D1 CHIQ LLU HICK B VIX 98 LBU HICX @1 YR @1 HIX @XAL 1 WX €71 @1 RHIS LU HICR § A1 X1 HY @1 YAl CHIY, 1wkt ¢ C1CT YIX @xdal g1

30s

A
30 ¥HS
20s

B
20 Y&
35s

C
35 J&g
15s

D
15 Y&

Correct Ans : A

Subject : General Aptitude

Q.No: 88 Which of the following is divisible by 6?

2427587
fofafea 3 4 $1 6 I v 32
1666
A
1666
2365
B
2365
9099
c
9099
7464
D
7464

Correct Ans : C

Subject : General Aptitude

Q.No: 89 The ratio between the no. of sides of two regular polygon is 2 : 3 and the ratio between their interior angles is 6 : 7. The number of sides of these polygongs are respectively:

2431320 ) gragysil 7 ool 1 GBAT 2:3 & U A ® U1 I 3fc: DO B U 6:7 € o ITDT YIS F G HHL: ghil:

A as
B 8 12
c 10,15
D i

Correct Ans : D

Subject : General Aptitude

Q.No: 90 If a train runs at 60 km/h, it reaches its destination 15 minutes late. But if it runs at 80 km/h. it is late by 7 minutes only. The right time for the train to cover its journey is:

2435972
IR B 7 60 frl/He 3 1y F Tl R A 95 oA Tey W 15 e 38§ ugad 81 AT ofR 1w 80 /R 3t iy | el | < o7 Faw 7 e 91 38 A v }1 3 9 oo am @@
18 minutes
A
18 firle
17 minutes
B
17 fiFe
20 minutes
C

20 e

D 21 minutes
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ZL H1C

Correct Ans : B

Subject : General Aptitude

Q.No: 91  The time for a train of length 110 meters running at the speed of 72 km/hr to cross a bridge of length 132 meters is—

2436000
72 et /de1 &t fd § Io aredt 110 Hex dall ¢ BT 132 Hiex T8 U@ $I UR XA | a1 999 @@ 2
9.8 sec
A
9.8 ¥
12.1 sec
B
12.1 9508
12.42 sec
C
12,42 Y5T8
14.3 sec
D
14.3 ¥V

Correct Ans : B

Subject : General Aptitude

%ll\;cg:lzz A man travels %th of the distance of his journey by bus, ith by Rickshaw and 2 km on foot. The
total distance travelled by the man is:
g cafta e AT A2 gl 9w ¥, 2 R ¥ ol 2 Pl daw @@ e 1 59 a4 g o anr e
12 km
A
12 f&f.
18 km
B
18 f&.A.
20 km
o
20 f&.
24 km
D
24 f&.

Correct Ans : D

Subject : General Aptitude

Q.No: 93 B starts 4 minutes after A from the same point, for a place at a distance of 7 miles from the starting point. A on reaching the destination turns back and walks a mile where he
2436049 s 3 mile in minutes.

RS fig ¥ 7 Ha 3t g ® R 5 /A & fRu e, A F 907 & 4 e a1g SH g F Ta1 IRH TR 31 T R U597 & 916 A 1S gsar § ok v Hid 907 & a15 B ¥ fyaar 1 X A,

il

9
A

9

12
B

12

10
c

10

8
D
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LOrrect ANs © o

Subject : General Aptitude

%1'\‘3‘209547 A can do 50% of the job in 16 days, B can do fth of the job in 24 days. In how many
days can they do fth of the job working together?
A Rrelt F1 & 50% ST FY 16 R # X a1 B 3 FA F 1 omr 1 24 Rl F AW {1
TF WY FA FA G A FA F 2 wmr F e Rat & oo de
24
A
24
9
B
9
21
C
21
18
D
18

Correct Ans : D

Subject : General Aptitude

Q.No: 95 Shivangi can do a work in 6 days and 6 hrs, Soma can do the same work in 9 days and 9 hrs. Contract for the work is Rs.1948. How much shall Shivangi get if both of them w

2436125
Rrafft faedt wm @ 6 o 9IR 6 €2 H FR Wt B, W I H Y 9 o 3R 9 W H R WA 1 BT B G A BT A 1948 T HT 31 A ST T TN HI et B, o Ry e R
779.2
A
779.2
389.6
B
389.6
1168.8
c
1168.8
1068.4
D
1068.4

Correct Ans : C

Subject : General Aptitude

Q.No: 96 The greatest number of 5 digits that is exactly divisible by each of 8, 12, 15 and 20 is :

2436138
5 3] 3T T I VB FF W S 8, 12, 15 3R 20 ¥ I 7AF F Pofa: fursa 3 :
99950
A
99950
99940
B
99940
99980
€
99980
99960
D
99960

Correct Ans : D
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DupjecCt | weneral Apttuae

Q.No: 97  The smallest number that should be added to 8212 to obtain a perfect square is :

2436140

TE gUi @ (perfect square) W &= & fo, 8212 H o Ht wad Bt Goam St T AT ¢

123
A

123

69
B

69

54
C

54

112
D

112

Correct Ans : B

Subject : General Aptitude

Q.No: 98 Out of three numbers, sum of half, the first number, one-fourth of the second number and two-third of the third number is 40. The sum of one-fourth of the first number, 1/6 ¢
2444521 25, What is the second number?
I Semslt B uge W & o, G Tel & UH-ar SR dad W & Q1-faets o1 A 40 §1 Ueeh WRem & Ue-AiuTE, gE T & 1/6 AR d WEm & Uh-[eTs 37 9 25 81 gud g

.o
.
c
o

Correct Ans : B

Subject : General Aptitude

Q.No: 99  The sum of three consecutive odd numbers is always divisible by:

2444522 7 gonrg v Sl a1 9 fm A I e gr wea Rl e

A
B

C

NN o1yl Ww NN

D

Correct Ans : B

Subject : General Aptitude

Q.No: 100 What will come in place of *?’ in the following number series?

2444655
2,4,11,48,?
= demmell & orgen # U fag 2 & RIMA W 1 S
2,4,11,48,?
315
A
315
328
B
328
389
c
389
320
D
320

Correct Ans : C


https://applink.adda247.com/d/XhqWf9lSap

Subject : General Aptitude
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